8 7 6 5 4 3 2 1

PROPRIETARY AND CONFIDENTIAL DATE SYM REVISION RECORD DR CHK APP
DO O D TS 11/27/2018 A REMOVED "REF" FROM D" DIA DW SN DW
WITTEN COMPANY INC. ANY
REPRODUCTION IN PART OR AS A WHOLE 3/17/2020 B UPDATED IN SOLIDWORKS 2009 BEJ DW DW
WITHOUT THE WRITTEN PERMISSION OF
A Al WITTEN COMPANY INC. IS PROHIBITED. 2/8/2022 C SEE ECN BEJ DwW DW
—— ==— (GRIP + B) +.010
— -Séé RADIUS ) CLEARANCE REQUIRED SECONDARY  WORK  PROTRUSION
DETAIL A OPTIONAL GUN MANDREL WORK STRUCTURE (REF)
+ B | * T — — —— L ——
REF # %
*A ) b %\ L
_______ —I D'l Dl A ? - —
il D ACROSS |! LD 100! | D2 DIA
| DIA KNURL e L +2 | DIA A (REF)
_________ | -
f LOCKING FEATURE %
010 OPTIONAL
005 SLEEVE EXPANDER INSTALLED BOLT BLIND NUT ASSEMBLY EXPANDER
SLEEVE SLEEVE AND EXPANDER ASSEMBLED COMPLETED BLIND NUT ASSEMBLY SLEEVE
EXPANDER ON MANDREL, INSERTED INTO WORK, SHOWING SECONDARY STRUCTURE
READY TO SET AND INSTALLED BOLT
WBN 388 PROTRUSION
BLIND NUT WBN388 SLEEVE WBB348 EXPANDER S D HOLE AFTER
ASSEMBLY INSTALLATION
FIRST DASH |  FIRST A Al | B | ore | ke D D1 L T looe42° sk | D2 DALl P WBN388 BLIND NUT ASSEMBLY
NG DASH NG, | DIA. | DIA. | oSRE: | RANGE | RANGE | DIA. [PARTNUMBER| oA | enGTH THREAD (REF) | 4 HOLE DIA. DA REF) | (REF)
: | (REF) | £.005 | o-3/4 | 3¢, | V& | (REF) : : EXAMPLE: WBN388 LK - 624 - 12
278 218 222 278
632 632 7y | 258 | 280 - - S1e | WBB348:632 | 217 | 610 | 6-32UNJC-3B | .39 1 573 285 655
832 832 g]; 283 | 315 | .330 - ggg WBB348-832 | 255 | 650 | 8-32UNJC-3B | .43 'igg g:; 335 695
: : : : GRIP LENGTH (THICKNESS OF WORK) IN 16THS = 3/4 GRIP LENGTH
1032 372 312 | WBB348-1032 710 | 10-32UNJF-3B 319 372 750
1032 348 | 380 | .420 | .460 309 47 410 EXPANDER FINISH
1024 367 309 | wBB348-1024 830 | 10-24 UNJC - 3B 313 367 870
428 450 390 | WBB348-12 950 | 1/4-28 UNJF-3B 397 450 1.000 SIZE OF BOLTTO BE USED = 3/8-24 BOLT
428 a5 | 430 | 450 | 450 | 450 | 0o ' 383 | ] ] 61 o1 s 510 : LOCKING FEATURE (OPTIONAL)
420 . : WBB348-420 980 | 1/4-20 UNJC - 3B . . 1.030
BLIND NUT ASSEMBLY
24 i . WBB348-14 1.01 16 - 24 UNJF - 3B i ) 1.
> 524 528 1 08 | 500 | 500 | 500 468 348 458 010 | 5/16-24UNJF-38 | o 477 528 .600 050
518 523 465 ["\WBB348518 1.100 [5/16-18 UNJC - 3B 469 523 1.140
624 59 . WBB348-16 1.070 | 3/8-24 UNJF - 3B 539 59 1.110
624 590 | sen | 550 | 550 | 550 520 521 / 73 53 590 662
616 585 527 | WBB348-616 1.170 | 3/8-16 UNJC - 3B 531 585 1.210
W CODE: FIRST DASH NUMBER INDICATES SIZE OF BOLT TO BE USED.
WBN330 SLEEVE LE4% LXZANDER SECOND DASH NUMBER INDICATES GRIP LENGTH (THICKNESS KEY
NOTE: 1. CONCENTRICITY - HOLE TO "D" DIAMETER WITHIN .005". NOTE: THREADS PER AS8879. OF WORK] IN T6THS.
HEAD TO "D" DIAMETER WITHIN 005"
2."A" DIMENSION REFERENCE TO THEORETICAL KNIFE POINT. MATERIAL: TYPE 431 STAINLESS STEEL PER AMS5628.
MATERIAL: 304L/305 STAINLESS STEEL PER AMS-QQ-S-763. HEAT TREAT: 125,000 PSI TENSILE MINIMUM. T E< H D AT A S H E ET
CODE: FIRST DASH INDICATES SIZE OF BOLT TO BE USED. FINISH: WBB348-() = CADMIUM PLATE PER SAE-AMS-QQ-P-416, TYPE I, CLASS 3 _
SECOND DASH NUMBER INDICATES GRIP LENGTH WBB%4§—()PB = CA%MMQMSELATE PER SAE—AMS—QCSQ—P—M 65, TYCPE2|(|7,2CLASS 2 CAGE: 0JHK5 NAME DATE
THICKNESS OF WORK) IN 16ths. WBB348-(JTF = HI-KOTE LID FILM LUBE PER HI-SHEAR SPE ) \
(THICKNESS OF WORK) IN 16105 i WiTTEN ComPany INC,
EXAMPLE: WBN330-624-12 = SLEEVE FOR 3/8-24 BOLT, 3/4 CODE: DASH NUMBER INDICATES EXPANDER USED IN ASSEMBLY. CHECKED
GRIP LENGTH. LETTERS "LK" AFTER PART NUMBER INDICATE EXPANDER WITH LOCKING D.WITTEN 6/4/2018 TITLE:
FEATURE. ENG APP D.WITTEN 6/4/2018 .
EXAMPLE: WBB348-16 = EXPANDER FOR 3/8-24 BOLT WITH CADMIUM PLATE PER B Ll N D N UT ASS EM B LY
SAE-AMS-QQ-P-416, TYPE 1, CLASS 3 FINISH, NO LOCK. - 100° COUNTERSUNK SHALLOW HEAD
WBB348LK-16TF = EXPANDER FOR 3/8-24 BOLT WITH LOCKING FEATURE COMMENTS: DOME TYPE CLOSED END
AND HI-KOTE 2 FINISH.
SIZE  DWG. NO. REV
SOLIDWORKS STANDARD 2009 SP4.1 B W B N 388 C
THIRD ANGLE PROJECTION SCALE: NONE SHEET 1 OF 2

8 7 6 5 4 3 2 1



PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF

WITTEN COMPANY INC. ANY

REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
WITTEN COMPANY INC. IS PROHIBITED.

DATE SYM
11/27/2018 A
3/17/2020 B
2/8/2022 C

U.S. ARMY MISSILE COMMAND
REDSTONE ARSENAL, ALABAMA
CROSS-REFERENCE
DRAWING 10274114 REV U

8 7 é
TABLE | CROSS - REFERENCE
U.S. ARMY MFR PART NO.
PART THREAD | GRIP HI-SHEAR
WITTEN CO.
NUMBER

10274114-1 :3125-24 ) .250 BN388LK524TF4 | WBN388LK-524TF4
UNJF-3B

10274114-2 190-32 1 187 | g\3g81K1032TF3 | WBN388LK-1032TF3
UNJF-3B

10274114-3 190321250 | p\3881K1032TF4 | WBN388LK-1032TF4
UNJF-3B

10274114-4 :250-28 | .250 BN388LK428TF4 | WBN388LK-428TF4
UNJF-3B

10274114-5 -250-28 437 BN388LK428TF7 | WBN388LK-428TF7
UNJF-3B

10274114-6 -164-32 | 312 BN388LK832TF5 | WBN388LK-832TF5
UNJC-3B

10274114-7 -250-28 | 375 BN388LK428TF6 | WBN388LK-428TF6
UNJF-3B

10274114-8 164-32 | .250 BN38SLKS32TF4 | WBN388LK-832TF4
UNJC-3B

DELETED

10274114-10 :250-28 | 125 BN388LK428TF2 | WBN388LK-428TF2
UNJF-3B

10274114-11 :250-28 | 500 | pn3ggika28TFS | WBN3SSLK-428TFS
UNF-3B

DELETED

10274114-13 190-32 1 125 | gN3geik1032TF2 | WBN388LK-1032TF2
UNJC-3B

10274114-14 190-32 1312 | p\3881K1032TF5 | WBN388LK-1032TF5
UNJF-3B

10274114-15 250-28 | 312 | 5381 Ka28TFS | WBN3BSLK-428TFS
UNJF-3B

10274114-16 164-32 1125 1 5n3991K832TF2 | WBN38SLK-832TF2
UNJC-38B

10274114-17 164-32 1187 1 pn3g8iK832TF3 | WBN38SLK-832TF3
UNJC-3B

DELETED

10274114-19 :250-28 125 BN388LK428PB2 | WBN388LK-428PB2
UNJF-3B

8 7 é

CAGE: 0JHKS
DRAWN
CHECKED

ENG APP

COMMENTS:

NAME DATE
T.WITTEN 6/4/2018
D.WITTEN 6/4/2018
D.WITTEN 6/4/2018

SOLIDWORKS STANDARD 2009 SP4.1

THIRD ANGLE PROJECTION

4

2

REVISION RECORD
REMOVED "REF" FROM "D" DIA
UPDATED IN SOLIDWORKS 2009

SEE ECN

DR
DW

BEJ
BEJ

CHK APP
SN DW
DW DW
DW DW

TECH DATA SHEET

m WimTen Company INC.
BLIND NUT ASSEMBLY

TITLE:

100° COUNTERSUNK SHALLOW HEAD

SIZE  DWG. NO.

SCALE: NONE

DOME TYPE CLOSED END

WBN388

REV

C

SHEET 2 OF 2



	Sheet1
	Drawing View3
	Drawing View6
	Detail View A (4 : 1)
	Drawing View9
	Drawing View12
	Drawing View13

	Sheet2

		2022-02-10T09:17:09-0500
	KEY
	I have reviewed this document




